'@1 N[ =
l

i —’Tg' & 3u=1

_ 75 _ (b+d)-(+d) _ _ p2-a> 0
cos (¥) = fiq = b+albtral | |b—alb+d]
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o A, B,C. - B.C,
ABxC)=| A4, ~B,C. + B.C,
B.C, - B,C,

A,B.C

= A,B,C, — A,B.C, — A,B,C, + A,B.C, + A,B,C, — A.B,C,
— B(C x A) = C(A x B)
— —A(Cx B)=-B(AxC)=—-C(B x A)
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> Fx : H— Frcos(60°) =0
SSFy, : G — Fsin (60°) =0

_ 1
H—%G

: Fycos(B) + Fzsin(a) =0
: Fysin(B) — Fscos (o) —G =0
)

in (a) | . l
zos(ﬂ) EG , b3 = _EG

s =
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Y. Fx : Fycos(a)+ Fpcos(8) —G =
Y.Fy @ Fasin(a) — Fpsin(f) =0
tan (a) = ¢, tan(8) =

FA - ! sin (o
cos (O‘)+tan((5))

Fp = oo (BC)L(H%)G

1.2.4
Fs\ zsin(a—GOO):zlsinw):zl\/wm

SMB (% cos () + ‘/7§ sin (a)) - Fy — 1 (% sin (a) — ‘/7§ cos (a)) -mg

Fw _ _mg

sin (B) ~— cos (B)

_ 1

tan (5) o \/Lg—l—tan ()

Fy |
— e 2

E Iy = £ (sin (a) — v/3cos (a)) - \/(% + tan (a)) +1

Fo=-""9_ —m 1 + tan? =m 1+ 1 2
5= iy = M9V ) g\/ (5 +tan (@)
1.3.1

2 tan (o)
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> Mj :lcos(a) -G =lssin(a) - Fg
> My :lcos(2a) - 3G = lgsin (2a) - Fg

cos(a) _ 3 cos? (a)—sin? (a)

sin ()~ 2 sin (a) cos («)

4cos® (a) =3

ZM)S(?’:—%'G-F(Z)—C)'N:O
ZM§3Z—%-G—I—CL-N—Q°F:O

b _ c
N=050 I'=xn2a¢

: Fpsin(30°) — Ggcos (30°) =0
: Fpcos(30°) + Ggsin(30°) —G =0
SMB i F4—-L-G=0

I1.3.5
x ¢ Az + Fscos(a) =0
Aa y + Ay —Gp—Gg+ Fgsin(a) =0
Ay‘ GB ZMB : %-GB—Z-AyIO

yL FAZQ/A%—I—Az
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: Fcos(30°) — Bceos (30°) — G+ Ccos (30°) =0

SMA ¢ —a-F—%-G+acos(30°)-C =0

C=2F, B=(1+Q)F
_ 2
A—%F
1.3.7 5 D R
G d G D _
YMA LSS5 5 -5 F=0

. —asin (¢) - Gy — Isin (¢) - G + 2lsin (¢) - Fp =0
: —bcos (1) - S — Lsin () - G +Isin(y) - Fp =0

v =sin™" (£)
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: Ggeos(45°) — A, — B, =0
: —GQ —GQSin(45°) —GK+Ay =0

ca-Gg+a-Ggsin(45°)+s-Gg+b-B; =0

)
: S A,
45° G |
, Go Go 7% A,
| .
1.5.2
nA B R
o B
% B
3 A‘ 3 ap Fe
y o . b | B
o —%
; a

: —Fycos(a) + Fszcos () — B, =0
. —Fisin(a) + Ay — Fy — Fysin(8) — Fu+ B, =0
ce-Fisin(a) —d-Ay+c- Fy

+b- Fssin(fB)+a-Fy =0

2
SF, : A2+B,-G=0
SSMP : 6a-By, + (6a—¢€)-G=0
f . 81'0252704—52'10

- (7)- (3

1.5.4

Al = |B]

__ 2[Ma| _ 2|M|
(F)— D2 _ dl

FoMy- (46 A

a
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